
Соs^2(P/3 - 7x)=½
u^2=½
u=+-1/V2

Соs(P/3 - 7x)=1/V2 
P/3-7x=+-P/4+2Pk
7x=P/3-P/4-2Pk
x=(P/3-+P/4-2Pk)/7
или Соs(P/3 - 7x)=-1/V2
P/3-7x=+-3P/4+2Pk
x=(P/3-+3P/4-2Pk)/7
Ответ: (P/3-+P/4-2Pk)/7;(P/3-+3P/4-2Pk)/7

---------------------------------------------------------------------------------------
cos^2 x=(cos2x +1)/2

Соs^2(P/3 - 7x)=½
cos^2(P/3-7x)=(cos(2*(P/3-7x))+1)/2=(cos(2P/3-14x)+1)/2
(cos(2P/3-14x)+1)/2=½
cos(2P/3-14x)+1=1
cos(2P/3-14x)=0
2P/3-14x=P/2+Pk
x=(2P/3-P/2-Pk)/14
Ответ:(2P/3-P/2-Pk)/14

-P/4=-arccos(V2/2)

arccos(1/V3)

-arccos(1/V3)

cosx=1/V3
x=+-arccos(1/v3)+2Pk


